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NEW QUESTION 1
Universal Containers's architect is documenting the application lifecycle management (ALM) process to communicate it to the development teams from different
implementation partners.
Which three steps apply to any Salesforce development project? Choose 3 answers

A. Continuous Integration
B. Develop
C. Build Release
D. Test
E. Change Sets

Answer: ACD

NEW QUESTION 2
A technical lead is performing all code reviews for a team and is finding many errors and improvement points. This is delaying the team’s Deliveries.
Which two actions can effectively contribute to the quality and agility of the team? Choose 2 answers

A. Choose the most senior developer to help the technical lead in the code review.
B. Create development standards and train teams in those standards.
C. Skip the code review and focus on functional tests and UAT.
D. Use static code analysis tool in the pipeline before manual code review.

Answer: CD

NEW QUESTION 3
Universal Containers (UC) is a large enterprise with a complex system landscape. UC is currently rolling out new infrastructure and strategies around Salesforce
DevOps. Some of the key feature’s UC is looking to support is rollback of metadata after a deployment, and the backup and restore of data to help recover from
deployment issues, system bugs, or outages in their downstream systems.
Regulations in the industry mean that UC must be able to provide strategies to recover and rollback from issues. The regulator has discovered UC is not currently
providing these, and must do so as soon as possible to remain compliant.
What should an architect advise?

A. Salesforce backs up all data and will restore it for customers on request.
B. Evaluate third-party and AppExchange products.
C. Advise stakeholders that rollback is not possible for Salesforce.
D. Custom build a feature rollback and data restore tool for Salesforce

Answer: B

NEW QUESTION 4
Universal Containers CUC) has decided to improve the quality of work by the development teams. As part of the effort, UC has acquired some code review
software licenses to help the developers with code quality.
Which are two recommended practices to follow when conducting secure code reviews? Choose 2 answers

A. Generate a code review checklist to ensure consistency between reviews and different reviewers.
B. Focus on the aggregated reviews to save time and effort, to remove the need to continuously monitor each meaningful change.
C. Conduct a review that combines human efforts and automatic checks by the tool to detect all flaws.
D. Use the code review software as the tool to flag which developer has committed the errors, so the developer can improve.

Answer: AD

NEW QUESTION 5
Universal Containers has just initiated a project to implement partner community. The application will be deployed into a production environment currently in use by
a large Salesforce user base. The project manager has insisted that the development and testing team use a single developer sandbox. What is the risk with this
approach?

A. Tester will encounter platform limits due to developer sandbox capacity limits.
B. Testers will experience functional changes throughput testing due to not having isolation form development.
C. Testers will hit governor limits due to large volume of users in the developer sandbox.
D. Refreshing the developer sandbox will take significant time.

Answer: B

NEW QUESTION 6
Universal Containers is considering developing a client application using the Metadata API for managing deployments to multiple Salesforce orgs. Which two use
cases describe the usage of Metadata API? Choose 2 ans

A. Perform CRUD operations o manage records in the organization.
B. Migrate configuration changes between two organizations.
C. Migrate data changes between two organizations using a csv file.
D. Export current customization in the organization as an xml file.

Answer: BD

NEW QUESTION 7
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Universal Containers (UC) has four different business units (BUS) with different processes that shares global customers. They have implemented a multi-org
strategy with one org consolidating customer 360-degree view, and four orgs for the different BUS. Each of the BU orgs read and write customer information
from/to the customer 360-degree view org in real time. UC is now launching a new BU that will use Salesforce. It does not share customers with the other BUS and
needs flexibility in their Business processes.
What should an architect recommend as org strategy for this new BU

A. Use a new stand-alone Salesforce org for the new BU, not integrated with the others.
B. Deploy the new BU in customer 360-degree view org, and read and write customer information from it without need of custom integration.
C. Use the same Salesforce org of another BU that shares geographical localization with the new BU.
D. Use a new Salesforce org for the new BU, and customize integration so that it reads and writes customer information from the customer data org

Answer: D

NEW QUESTION 8
Universal Containers CUC) is embarked on a large Salesforce transformation journey, UC's DevOps team raised a question about tracking Salesforce metadata
throughout the development lifecycle across sandboxes all the way to production.
As the deployment architect of the project, what should be the recommendation to track which version of each feature in different environments?

A. Use an Excel sheet to track deployment steps and document the SFDX commands.
B. Use an AppExchange or third-party tool that is specialized in Salesforce deployment.
C. Use ChangeSet to track deployed customizations.
D. Use Salesforce SFDX commands to deploy to different sandboxes.

Answer: B

NEW QUESTION 9
Universal Containers (UC) innovative apps division is releasing an application which can be installed in their trading partners Salesforce environment. The partners
can then build on top of the application with process builders and triggers so the container booking process can be integrated with the trading partners own
processes. What is the recommended mechanism for releasing the application?

A. Zip file deployable by Force.Com Migration Tool.
B. Unmanaged Package.
C. Change Sets.
D. Managed Package.

Answer: D

NEW QUESTION 10
Universal Containers (UC) had been using change sets for deploying all of the modifications to its Sales Cloud apps. After multiple business units joined the single
Salesforce instance, there is a need to evaluate which development model is the most suitable for UC. The IT management has shown a particular interest in
finding out more about the package development model.
As an architect, which two statements can be made to articulate the differences between the change set model and package development model?
Choose 2 answers

A. In package development, the source of truth is the metadata in the package project, which makes it easy to integrate to a version controlSystem.
B. A change set can be retrieved from the developer’s workbench as a package, then pushed into the version control system to achieve theVersioning control.
C. In change set development, the source of truth is a combination of the metadata already in the environment and the content of your change Set.
D. In package development, the best practice is to consider the dependencies and build the dependencies into the package so it can be deploye In any other
target orgs.

Answer: AC

NEW QUESTION 10
Universal Containers (UC) is midway through a large enterprise project. UC is working in an agile model, and currently has four-week iterations, with a branching
strategy supporting this approach. UC operates in a strict regulatory environment, and has dedicated teams for security, QA, and release management. The
system is live with users, and a serious production issue is identified at the start of a sprint, which is narrowed down to a bug in some Apex code. Which three
approaches should an architect recommend to address this bug?
Choose 3 answers

A. Investigate potential data impacts.
B. Fix the bug in a hotfix branch.
C. Wait until the next release to deploy the fix.
D. Attempt to fix the bug directly in production.
E. Seek stakeholder approval for the hotfix.

Answer: ABE

NEW QUESTION 13
Universal Containers (UC) currently uses the org development model and utilizes the Salesforce CLI as the deployment tool. After the feature release artifact (a
.zip file) has been tested in a lower sandbox, it is being deployed to the full sandbox for performance testing and production deployment readiness check-Since
quick deployment options are not being used, what is the correct way to deploy the artifact to the full sandbox?

A. Authorize to the Full sandbox org; Validate with sfdx:source:deploy; On successful validation, deploy with sfdx:source:deploy
B. Authorize to the Full sandbox org; Validate with sfdximdapi:deploy; On successful validation, deploy with sfdx:mdapi:deploy
C. Authorize to the Full sandbox; validate with sfdx: source: deploy; On successful validation, deploy with sfdx;mdapi;deploy
D. Authorize to the Full sandbox org; Validate with sfdx:mdapi:deploy; On successful validation, deploy with sfdx:source:deploy

Answer: C
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NEW QUESTION 15
Product owners at Universal Containers want to ensure that all the requirements have test cases associated with them so that no functionality is left untested
during user acceptance testing.
What project artifact can help meet the needs of the business?

A. User acceptance test scripts
B. Testing strategy
C. Test execution plan
D. Requirement traceability matrix

Answer: D

NEW QUESTION 16
A developer on the Universal Containers team has written a test class to test a method that involves a web service callout. Within the test class, the developer is
supposed to load test data, create an instance of the Mock object, set the Test.setMock() to that Mock object, call startTest(), execute the code that makes the
callout, call stopTest(), and compare the result with expectations. Unfortunately, the Developer forgot to use the Test.setMock() method step. What would happen
when the developer runs this test class?

A. The test class fails without error message since the test class will simply skip the web service callout during the execution.
B. The test class fails and the developer will see a message stating: Methods defined as TestMethod do not support Web service callouts.
C. The test class would make the web service callout and may or may not fail depending on the circumstances on the web service end
D. It is impossible to miss the Test.setMock() statement, the Developer Console will not let the developer save it since the test methou callout

Answer: B

NEW QUESTION 19
Universal Containers has automated its deployment process using Metadata API. However, they found that Metadata API doesn't support all the components yet.
What should be done to address this?

A. Deploy unsupported components manually before/after deployment.
B. Use AppExchange products to deploy unsupported components.
C. Use change sets for deploying all the unsupported components.
D. Use the force.com IDE for deploying the unsupported components.

Answer: A

NEW QUESTION 24
Universal Containers has a deadline to retire a business -critical application that will no longer be supported on a specific date. What should an Architect
recommend?

A. Executive Leadership
B. Requirements Traceability Matrix
C. Business Continuity Plan
D. Agile Methodology

Answer: C

NEW QUESTION 26
Which two decisions should be made by an Architecture Review Board (ARB)? Choose 2 answers

A. Whether to create a new Salesforce object or override an existing object using a new Record Type
B. Whether to utilize the Waterfall or Agile methodology on the project
C. What testing tools should be used to track integration testing requirements
D. Whether to implement Single Sign -On with SAML or delegated authentication

Answer: AD

NEW QUESTION 29
Universal Containers has multiple minor and major releases in a year .Minor releases have sample configuration changes, while major releases involve large
number of complex code components. What is the deployment tools should an architect recommend for both types of releases?

A. Change sets for minor releases and Force.com IDE for major releases.
B. Change sets for both minor releases and major releases.
C. Change sets for minor releases and metadata API for major releases.
D. Force.com IDE for minor releases and metadata API for major releases.

Answer: C

NEW QUESTION 33
In the effort of improving the code quality, Universal Containers (UC) has asked a third-party system integrator to perform some independent code reviews. One
piece of the feedback is the development team is seemingly not doing enough negative unit testing. Which are three usual symptoms of inadequate negative tests
Choose 3 answers

A. Developers often have to turn to the debug log for details of the failed Apex executions.
B. When an Apex batch job runs at a scheduled time, an increased number of Apex execution errors occur over all.
C. An Apex process runs into an un-handled exception when an HTTP callout has an unexpected status code in the response body.
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D. Developers constantly ask the testers for a screenshot of the error and the exact steps of reproducing the error.
E. The delivered user interfaces are regularly not meeting the expectations of the business users.

Answer: ABC

NEW QUESTION 36
Universal Containers have just acquired Planetary storage. Both companies use salesforce.com to manage their sales activities. The two companies have many
customers in common and the company plans to merge the two sales organizations, but the products and sales processes between the two original companies will
remain different and distinct. What factor should the company consider in merging the two Salesforce.com orgs into a single org?

A. Transactional sales data could be combined without modification since standard objects are used
B. Salespersons selling both product lines would need two logins, once for each product line
C. Business processes on standard objects can be merged without modifications
D. Customer data could be merged with modifications using standardization and de -duplication

Answer: D

NEW QUESTION 40
Universal Containers (UC) has a huge volume of metadata that cannot be deployed at once. What is the recommended strategy for UC to be successful with the
deployment?

A. Identify metadata dependencies, create logical groupings, and deploy in the right order.
B. Use a continuous integration tool such as Jenkins to deploy in the right order.
C. Sort and group the metadata alphabetically and deploy them in the same order.
D. Use a combination of the Ant migration tool and change sets for deployment.

Answer: A

NEW QUESTION 45
Universal Containers has discovered a Sev0 defect in production. Tens of thousands of records will be created with incorrect data in minutes, producing significant
brand damage as a consequence. The Salesforce administrator has suggested that the defective text field be replaced with a new picklist field directly in
production. The page layout will be modified so that the text-field is removed and the new picklist field added.
What should the Salesforce architect advise?

A. Deny the suggestion and explain to everyone that the risk is too high and the next release window is on the weekend.
B. Pair with the administrator, and review each change as it happens
C. Explain that only developers are certified to make changes directly in production.
D. Call the security team and begin organizing d penetration test.

Answer: B

NEW QUESTION 50
Universal Containers has asked the salesforce architect to establish a governance framework to manage all of those Salesforce initiatives within the company.
What is the first step the Architect should take?

A. Implement a comprehensive DevOps framework for all initiatives within Universal Containers
B. Establish a global Center of Excellence to define and manage Salesforce development standards across the organization
C. Identify relevant Stakeholders from within Universal Containers to obtain governance goals and objectives
D. Implement a project management tool to manage all change requests on the project

Answer: C

NEW QUESTION 52
Universal Containers is reviewing its environment strategy. They have identified a need for a new hotfix environment to resolve any urgent production issues.
Which two sandbox types would be appropriate to use as the hotfix environment? Choose 2 answers

A. Partial Copy sandbox
B. Developer sandbox
C. Full sandbox
D. Developer Pro sandbox

Answer: CD

NEW QUESTION 54
Universal Containers (UC) development team is developing a managed package for AppExchange. The product team has finished developing and testing, and
wants to submit a Security Review. However, the product manager has concerns on the few errors from the Checkmarx code scanner.
How should the product team proceed?

A. Review the Checkmarx error
B. If there is no need to fix, mark them as false positive and attach Explanation, then submit.
C. Leave them to the Salesforce security review team, they would catch it if those are true problems.
D. Leavee a partner support case, the partner manager will engage Salesforce support resources to help.
E. Review the Checkmarx errors and fix all of them before submitting security review.Salesforce security review team will reject the request if any error remains.

Answer: A
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NEW QUESTION 59
Universal Containers is having trouble deploying metadata from SIT to UAT. UAT is
complaining that it does not recognize some new Salesforce metadata types to be deployed. The deployment from Dev to SIT worked perfectly
What could be the problem?

A. There is no problem, this is expected behavior.
B. UAT is on a preview release and SIT is not.
C. SIT is on a preview release and UAT is not.
D. Use the DX command line instead.

Answer: C

NEW QUESTION 61
Universal Containers (UC) works with different partners and has few admin resources that take care of the day-to-day deployment tasks. As a result, UC would like
to find a way to automate the deployments using Metadata API. Which two limitations of Metadata API should be considered when using Metadata API-based
Deployments? Choose 2 answers

A. Deploy up to 10,000 files, but retrieve more than 10,000 files.
B. Maximum size of deployed .zip file is 400MB.
C. Maximum Size of deployed .zip file is 39MB.
D. Deploy and retrieve up to 10,000 files at once.

Answer: CD

NEW QUESTION 66
Universal Containers (UC) has gone through a global organization restructuring and process review during the last year, which triggered a review of its Salesforce
org strategy. After thorough analysis of its org and global customers, UC decided to start a project to merge its Salesforce orgs, going from a multi-org to a single-
org strategy.
In this scenario, what are three benefits going to a single-org strategy? Choose 3 answers

A. Lower administration overhead costs.
B. Improved Chatter collaboration across different business units.
C. Consolidating the business processes would be simplified.
D. Automatically unify data model among all lines of business.
E. Easier to get a 360-view of the customer.

Answer: ABE

NEW QUESTION 71
A Salesforce partner intends to build a commercially available application by creating a managed package for distribution through AppExchange.
What two types of environments can the partner use for development of the managed package? Choose 2 answers

A. Developer Edition
B. Partner Developer Edition
C. Developer sandbox
D. Developer Pro sandbox

Answer: BC

NEW QUESTION 75
Universal Containers has just initiated a project involving a large distributed development and testing team. The development team members need access to a tool
to manage requirements and the testing team needs access to a tool to manage defects. Additionally, stakeholders are requesting ad -hoc status reports. What
tool should an Architect recommend to support the project?

A. Spreadsheets
B. Code Repository
C. Wave
D. Port management tool

Answer: D

NEW QUESTION 78
In Architect has been working on a large project for the past 6 months. This project must be live by the end of the current month. Which two planning techniques
should the Architect use to ensure all metadata changes deploy smoothly and on time? Choose 2 answers

A. Ensure all code that is being deployed is checked into source control
B. Validate the final deployment package against production prior to go-live
C. Create a new sandbox and perform a test deployment to that environment
D. Upload a change set from sandbox to production as early as possible

Answer: AB

NEW QUESTION 83
Universal Containers (UC) innovative apps division is releasing an application that can
be installed in its trading partners Salesforce environments. The application lets the trading partners book containers from UC directly without leaving their own
Salesforce environment. The partners can then build on top of the application with process builders and triggers so the container booking process can be
integrated with the trading partners’ own processes.
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What is the recommended mechanism for releasing the application considering the innovative apps division wants to keep the application up to date in various
environments?

A. Change sets
B. Unmanaged package
C. Managed package
D. Zip file deployable by SFDX or ANT

Answer: B

NEW QUESTION 85
Which two actions will contribute to an improvement of code security? Choose 2 answers

A. Hire a company specialized in secure code review the current code.
B. Implement a pull request and secure code review.
C. Integrate a static code security analysis tool in the CI/CD process.
D. Use two developers to review and fix current code vulnerabilities.

Answer: BC

NEW QUESTION 90
Universal Containers has a full sandbox that will be used to analyze and fix bugs found in production.
Which two items should the architect recommend to ensure that bugs found in production are more easily analyzed in this full sandbox?
Choose 2 answers

A. Refresh the full sandbox after every deployment in production.
B. Create a daily process of copying new and changed data in production to the full sandbox.
C. Before any deployment in production, the same process must be performed in this sandbox.
D. Perform a Refresh Data in the full sandbox.

Answer: BC

NEW QUESTION 91
Universal Containers has dozens of independent user acceptance and functional teams that need to test independently in isolation, and on current production data
that was modified within the last week. Which Sandbox type should a Technical Architect recommend?

A. Developer Pro Sandbox
B. Partial Copy Sandbox
C. Developer Sandbox
D. Full Sandbox

Answer: D

NEW QUESTION 95
What advice should a technical architect provide in a Change Advisory Board meeting?

A. Functionality meets the business needs.
B. Solution is usable by the business.
C. Solution is technically sound.
D. Troubleshooting strategies for deployment issues

Answer: D

NEW QUESTION 98
A Salesforce Administrator has initiated a deployment using a change set. the deployment has taken more time than usual. What is the potential reason for this?

A. The change set includes changes to permission sets and profiles.
B. The change set includes Field type changes for some objects.
C. The change set includes new custom objects and custom fields.
D. The change set performance is independent of included components.

Answer: A

NEW QUESTION 101
Universal Containers CUC) is looking for advice on how often it should refresh its sandboxes. UC currently uses a development Mfecycle that starts with developer
environments and moves to integration testing, QA testing, UAT, and then production. They have many scrum teams working concurrently and the teams do not
agree on when refreshes should occur.
What two recommendations should the architect suggest? Choose 2 answers

A. Sandboxes should be refreshed on the day when the refresh is allowed for that type of sandbox.
B. Production is the only pristine environment.
C. Integration sandboxes should be refreshed rarely because of the burden of maintaining the various API.
D. Development environments should generally be refreshed after each working feature has been successfully migrated.

Answer: BC
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NEW QUESTION 105
Which two options should be considered when making production changes in a highly regulated and audited environment? Choose 2 answers

A. All changes including hotfixes should be reviewed against security principles.
B. Any production change should have explicit stakeholder approval.
C. No manual steps should be carried out.
D. After deployment, the development team should test and verify functionality in production.

Answer: AB

NEW QUESTION 108
Universal Containers (UC) is working on a major project and has determined that its approach to a certain feature will no longer work with an upcoming Salesforce
platform release (e.g., Winter to Spring).What should a Technical Architect recommend to address this issue?

A. Continue with the current approach, since Salesforce will rectify the issue prior to updating the production environment to the new platform release
B. Continue development in a non -upgraded sandbox, and have the developer update the API version ofthe code to the upcoming API version for testing
purposes
C. Submit a request to Salesforce to enable the 'delay upgrade' feature in their or
D. Have the UC administrator schedule the upgrade for a later date
E. Determine the developer sandbox upgrade schedule, and have the developer refactor the approach to the feature in the upgraded sandbox

Answer: D

NEW QUESTION 111
In architect is working on a project that relies on functionality that cannot be deployed via the Metadata API. What is the best practice for making sure these
components are deployed successfully?

A. Generate and deploy a change set that enables the required settings
B. Generate and install a managed package that enables the required settings
C. Utilize the metadata API's deployAllComponents call
D. Document deployment steps for any components that cannot be automatically deployed

Answer: D

NEW QUESTION 113
Universal Containers (UC) is implementing Service Cloud UC's contact center receives 100 phone calls per hour and operates across North America ,Europe and
APAC regions. UC wants the application to be responsive and scalable to support 150 calls considering future growth. what should be recommended test load
consideration

A. Testing load considering 50% more call volume.
B. Testing load considering half the call volume.
C. Testing load considering 10xthe current call volume.
D. Testing load considering current call volume.

Answer: A

NEW QUESTION 114
Universal Containers is validating an outbound change set from the Developer Sandbox to the production org. Which two locking behaviors will occur during a
deployment? Choose 2 answers

A. The production org will be locke
B. Administrators cannot modify metadata during this time
C. The sandbox org will be locke
D. Administrators cannot modify metadata
E. The production org will be locke
F. Users can only Read data during this time
G. The production org will be locke
H. Users will still be able to Read/Write data to the org

Answer: AD

NEW QUESTION 119
The CEO at Universal Containers (UC) is receiving constant complaints from business stakeholders that the development teams are not frequently delivering value
to the end-user. The CEO talked with the CTO, who argues the opposite, explaining that the development teams are delivering value every Sprint.
The architect suggests to the CTO to implement Kanban to solve this disagreement. How can Kanban help clarify whether value is being delivered to the
business?

A. Kanban teams respond to unplanned work and changes by dropping everything and jumping on the new request, ensuring agility.
B. Kannan traits includes metrics, like lead time and throughput, which increases transparency.
C. Kanban can make use of the Salesforce Agile Accelerator to speed up delivery.
D. Kanban limits work in progress, so the executives will know the development team is not overworked.

Answer: B

NEW QUESTION 124
Universal Containers (UC) operates globally from different geographical locations. UC is revisiting their current org strategy. Which three factors should an
Architect consider for a single strategy? Choose 3 answers
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A. Increased ability to collaborate.
B. Tailored implementation.
C. Centralized data location.
D. Consistent processes across the business.
E. Fewer inter Dependencies.

Answer: ACD

NEW QUESTION 128
Universal containers has proposed using a Developer Edition org to stage changes to their Customer Community, which includes multiple custom Visualforce
pages and components. Which three risks should a Technical Architect consider in this strategy? Choose 3 answers

A. Code changes cannot be deployed from a Developer Sandbox to Production.
B. Developer Edition orgs have limited user counts and low data volume limits, which will make User Testing difficult.
C. Developer Edition orgs cannot have sandboxes, which will make team development difficult.
D. Developer Edition orgs do not run on production servers and will not perform well during testing.
E. Changes Sets cannot be used to deploy from Developer Edition to Production which will make deployment more complex

Answer: BCD

NEW QUESTION 130
Universal Containers (UC) has a recruiting application using Metadata API version 35, and deployed it in production last year. The current Salesforce platform is
running on API version 36.A new field has been introduced on the object Apex page in API version 36. A UC developer has developed a new Apex page that
contains the new field and is trying to deploy the page using the previous deployment script that uses API version 35. What will happen during the deployment?

A. The deployment script will pass because the new field is backward compatible with the previous API version 35.
B. The deployment script will fail because the new field is not known for the previous API version 35.
C. The deployment script will pass because the new field is supported on the current platform version.
D. The deployment script will fail because the platform doesn't support the previous API version 35.

Answer: B

NEW QUESTION 132
Universal Containers (UC) is using custom metadata types to control the behavior of a few of the custom functionalities. UC wants to Deploy custom metadata
types to production using Metadata API.
Which two data types does UC need to include? Choose 2 answers

A. CustomMetadataType
B. CustomMetadata
C. CustomObject
D. Custom Field

Answer: AD

NEW QUESTION 133
A Salesforce contractor has built an application for Universal Containers (UC) .The contractor will need to deploy multiple times from the contractor's own
Salesforce to UC's Salesforce environments. Ultimately, UC has full control of the application's code, including its intellectual property

A. Eclipse IDE
B. Unmanaged Package
C. Change Sets.
D. Managed Package

Answer: B

NEW QUESTION 135
Which two project situations favor an Agile methodology? Choose 2 answers

A. A digitization project to update an existing customer -facing process and enable quick adjustments
B. A project to be executed by a third party, with a fixed and formal scope, budget, and timeline
C. An environment with a heavy investment in DevOps capabilities for rapid testing and deployment
D. A project with well-defined requirements and complex interactions between front- and back -end systems

Answer: AC

NEW QUESTION 139
Universal Containers (UC) has multiple development teams that work on separate streams of work, with different timelines. Each stream has different releases of
code and config, and the delivery dates differ between them.
What is a suitable branching policy to recommend?

A. Leaf-based development
B. Trunk-based development
C. GitHub flow
D. Scratch-org-based development

Answer: C
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NEW QUESTION 142
Universal Containers has a highly integrated environment with significant process orchestration between systems. When refreshing UAT, Objects that have
external Ids from Production no longer point to valid External Ids in the UAT environment.
What should an Architect do to resolve this?

A. Let UAT point to production integrations and rollback each transaction after it finishes.
B. Delete all the data and use an Automated testing tool to create new data across all the systems in UAT.
C. Mask the External Id so nobody can see the production value.
D. In the post refresh plan, modify external ids to a known valid set of values for UAT.

Answer: D

NEW QUESTION 144
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